Scale Up - Scale Down I A Versatile Mounting Option for Refuse & Recycling
u The MA Pivot is a manually adjustable tarp arm pivot offering significant benefits for
M A I V Gt building stock trucks for refuse & recycling applications. The MA Pivot can be adjusted to
cover up to 22’ containers without the need to disassemble the tarp system, and it’s 100%
bolt-on installation eliminates the need for welding and painting. Whether you're looking

to enhance an existing system or purchase it as a stand-alone item for stocking shelves,
this versatile pivot offers a convenient and cost-effective solution for truck customization.

Scalable Solution
for Stock Hook-Lift &
Roll-Off Upfits

CONTAINER APPLICATIONS TRUCK CLASS

IZI LENGTH __ e HookLift Single Axle
Length Up To py. e Roll-Off 3-6

MA Pivot Kits | Stand Alone
F EAT U RES Scalable Solution for Upfitters |

The MA Pivot provides a scalable stock
tarping solution for hook-lift & roll-off
containers. Easily adjust the pivot location to

encompass up to 22’ containers.

4 4 Spring ) 17058
4 5 Spring 6 17072
¢ 4 Spring 10 17063
Locating Pin ¢ 5 Spring 10’ 17073

The locating pin is additional security

measure to ensure stability during
transit.

13 Aluminum System Compatible
No Welding - No Painting AI The MA Pivot is designed for Aluminum 4 &
100% Bolt-On Design means no weld- 5 Spring Tarp Systems for easy arm length
ing and no painting, units standard with Aluminum adjustment, no drilling.

durable black powdercoating. 269815

www. SHURCO.com | 1.800.474.8756



https://www.shurco.com/

SPECIFICATION CHART e —
~
4ft Mounting Tube Kit: N
Accommodates a 6-foot Adjustment Range e \
(i.e.: 16-22' Containers or 12-18’ Containers) \‘\\ \
. ™~ AN
6ft Mounting Tube Kit: . T N \
Accommodates a 10-foot Adjustment Range /// ™~ o \ o .
(i.e.: 12-22' Containers or 10-20’ Containers) /// \(snogehsancEgmwsx \/SHOZTRE;TLEﬁg:wER LONGEST CONTANER \
AN S e s
N Y - o
/// < //’
\\ / .
h [6FT] 7w
: >< \’/ contantr | conmanen conTaigs
T & NomAL
rE‘ng]:!')lUSTMFNT ) ’\[‘ZF’\_;]‘NA:ONTNNFR DIFFERENCE

ADJUSTMENT

CONTAINER DIFFERENCE

PARTS LIST

www.SHURCO.com | 1.800.474.8756

REF PART # DESCRIPTION
16958 4ft Manual Adjust 4-Spring Pivot Assembly; Driver Side 1
17061 6ft Manual Adjust 4-Spring Pivot Assembly; Driver Side 1
16959  4ft Manual Adjust 4-Spring Pivot Assembly; Passenger Side 1
17062  6ft Manual Adjust 4-Spring Pivot Assembly; Passenger Side 1
17068 4ft Manual Adjust 5-Spring Pivot Assembly; Driver Side 1
17070 6ft Manual Adjust 5-Spring Pivot Assembly; Driver Side 1
17069  4ft Manual Adjust 5-Spring Pivot Assembly; Passenger Side 1
17071  6ft Manual Adjust 5-Spring Pivot Assembly; Passenger Side 1
16954 4ft Slotted Tube for Adjustable Pivot 2
17055 6ft Slotted Tube for Adjustable Pivot 2
16983 4-Spring Pivot Pin with Clevis Pin Holes 2
17067 5-Spring Pivot Pin with Clevis Pin Holes 2
16952 %-13 Tee Nut 4
16982 5/16” Blind, Locating Clevis Pin 2
14826 %-13 x 1-3/8” Hex Bolt 4
17085 %" Wedge Lock Washer Set 4
16957 %-13 Nylock Jam Nut 4
17056 Offset Tube Weldment 4
17057 Bolt Plate Weldment 4
11 17050 3/8” Square U-Bolt 8
12 17064 3/8” x 1” Carriage Bolt 8
13 11274 3/8” Washer 24
14 16345 3/8” Lock Nut 24
15 16835 2-1/2" Square Plastic Tube Cap 4

SCO34FL-1224



https://www.shurco.com/

